Math 1 Question Bank
Unit 6 – Quadratic Functions KEY

Below are questions taken from the Case 21 database.  Unfortunately, the questions are stored as pictures, but I moved them to Word so that you can at least move or delete questions if you choose to do so.  The answers are under each question
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Which pair of expressions are equivalent?

A 3(2x-3y);
6x-3y

B. 12x- (x+ );
1lix+y

C. x(x+2y);
2X+ 2xy

D. 4x- (2x-2y);
2x+ 2y
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What is the product of (4x + 3) and
(7x - 9)?

A. 28x? + 15x +27
B. 28x2 - 15x + 27
C. 28x? + 57x - 27

D 728x2—15x — 27
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What is the product of (5x — 8) and
(3x -2)?

A 15x%-34x + 16
B. 15x2- 14x -16
C. 15x2+ 34x + 16

D. 15x2+ 14x — 16
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A polynomial expression Is written in the Dox.

-4a%(-7a - 3)

Which choice is equivalent to this expression?
A 28a*-3

B. -28a* + 3a°

C. 28a* + 122°

D -283%—1233
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What is an equivalent to the expression
(x-3y)?

A x?+6xy+9y?

B. y2_6xy+ 9y°

C. (24 g,2

D 2 g,2
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What is the siae length of a square with
an area of 25x % - 30x + 9?

A 5x+3
B. 5x-3
C. -5x+3

D -5x_3
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A DOx has the dimensions shown in the
diagram.

X+5

x-1

Which expression represents the volume
of the box?

A 2x%-10x+8
B. 2x% + 10x- 8
C. 2x%- 8x+ 10

D 72x2 + 8- 10
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Rectangles A and B have the lengths
shown in the diagram. They share the
same width, w.

Y W

x-2 x+1

If the area of rectangle B is x2 - 2x- 3
square units, what is the area of rectangle
A?

A x?-6x+5
B. x2-5x+6
C. x?+6x-5

D x24+5x-6
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Which expression is a factor of both
x? + 3x-10 and x* - 5x+ 67

A x+5
B. x-2

C. x-3
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What is an equivalent expression to
(x-9)%?

A x?-81
B. x?+81
C. x2-18x+ 81

D. x2—-18x-81
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A square has area x “ — 14x + 49 square
units. What is its side length?

A. x — 14 units
B. x + 14 units
C. x -7 units

D. ¥ + 7 units
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What is the correct factorization of
a?-27a+50?

A (a+2)(a+ 25
B. (a-2) (a+ 25)
C. (a-2) (a- 25)

D. (a-25)(a+2)
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Which expression is equivalent to
9a% + 123 + 47

A (2a - 3)
B. (2a +3)
C. 3a -2

D. 3a +2)
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Which expression is equivalent to
m?-4am -32?

A (m +2)(m + 16)
B. (m —4)(m +8)
C. (m +4)(m -8)

D. (m -2)(m -8)
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Which choice represents the correct
factorization of 7x* - 20x -3 = 0?

A (x = 1)(7x +3)
B. (x +3)(7x — 1)
C. (x =3)(7x +1)

D. (x -21)(x +1)
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What is the correct factorization of the
polynomial in the box?

64b% - 144

A. (8b-18) (80 +8)

B. (32b-8) (2b+ 18)
C. (8b+12) (8b-12)

D. (16b6-12) (4b + 12)
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What is 7(2) for the function
Fx) = 2x" + 6x—-5?

A9
B. 11
C. 15

D. 25
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What is the graph of the function
Fx) =-3x7?
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A function is graphed on the coordinate
grid.

Which statement about the function
represented in the graph is true?

A. The function is linear.
B. The function is quadratic.

C. The value of the function at x = 0 is 2.

D. The value of the function at x =
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What is the graph of the function
F(x) = 0.5x*?
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The graph of the quadratic equation,
= x?~4x + 3 is shown.

What are the x-intercepts of this graph?
A. no x-intercepts

B. (1, 0) and (3, 0)

C. (3,0)

D. The x-intercepts cannot be determined
from the given graph.

4
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A quadratic equation is given.
y=x*+ 6x+5

What are the function’s zeros?

A. -5and -1

B. 5and 1

C. 2and 3

D -2 and -3
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For the quadratic function y = x* + 4,
which statement is true?

A. The axis of symmetry is x = 0.
B. The coordinates of the vertex are (4,0).
C. The coordinates of the vertex are (0,-4).

D. The minimum value is (4,0).
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It an object Is aropped from the height of
54 feet, the function # = -16¢% + 54
gives the height of the object after ¢
seconds. Approximately how long will it
take before the object hits the ground?

A. 2.45 seconds
B. 1.84 seconds
C. 1.30 seconds

D. 0.75 seconds




image27.png
The height (y ), In feet, of a ball thrown
into the air can be modeled by the
function y = -2.2x? + 53x + 4, with x
representing the horizontal distance
traveled. What is the maximum height
reached by the ball?

A. 9.3 feet
B. 8.6 feet
C. 7.2 feet

D. 3.1 feet
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The function, y = -16x “+270, models the
height of y in feet of a heavy object x'
seconds after it is dropped from the top of
a building 312 feet tall. Approximately
how long does it take the object to hit the
ground?

A. 4.07 sec
B. 4.11 sec
C. 4.20 sec

D. 427 sec
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Which quadratic function has a vertex in
quadrant III?

Ay =-x'-5x+7
B.y =3x2+12x +8
C.y=x>-6x+2

2x2 + 12x - 14

D. y
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Which choice is most likely the equation
of this quadratic function?
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The function y = -12x* + 120 models the
height (y) in yards of an egg §x) seconds
after it is dropped from the 2™ floor of a
school building. How long will it take for
the egg to hit the ground?

A. approximately 2.3 seconds
B. approximately 3.2 seconds
C. approximately 4.6 seconds

D. approximately 6.4 seconds
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Look at the graph of the parabola in the
coordinate grid.

Which choice represents the equation for
this parabola?

Ay =05x%
B. y =-0.5x% + 2.5x -2
C.y =05x*-25x -2

5x?

D. y
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A quadratic function is shown.

What is the vertex and axis of symmetry of
this function?

A. vertex (-5, 7)
axis of symmetry x =7

B. vertex (5, 7)
axis of symmetry: x =5

C. vertex (-5, 7)
axis of symmetry: x =-5

D. vertex (5, 7)
axis of symmetry: x =7
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A graph of a quadratic function is shown in
the coordinate grid.

Which choice represents the correct
intercepts and vertex for this graph?

A. xintercept -1; yintercepts -3 and 1;
vertex (-4, 0)

B. xintercepts -3 and 1; y~intercept -3;
vertex (-1, -4)

C. xintercepts 1 and -3; y~intercept 0;
vertex (-3, 0)

D. xintercept -4; j-intercepts -3 and 1;
vertex (-1, 3)
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The graph of a quadratic function Is shown In
the coordinate grid.

What are the roots of the function?
A x=-2and x=2
B. x=-4and x=0
C. x=-2and x=0

D ¥x=0and x=2
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Which picture is the graph of the
function  F(x) = (x —4)*?
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The daimensions of the rectangle are
unknown.

xX=5

Which expression can be used to find the
area of the rectangle?

A x?-7x +10
B. x?+7x - 10
C. x?-3x-10

D x2+3x + 10
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Study the graph.

Which quadratic function is representative
of the graph shown in the coordinate
grid?

Ay =x2-2
B. y =x*-2x +1
C.y=x*-2x

D. y
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A rectangular prism has length, wiath,
and height as marked below.

X+5

Which is an expression for the volume of
the prism? (V' = /wh)

A 36+ 12x- 15
B. 3x° + 18x + 15
C. x%+4x-5

D. x4+ 6x+5
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You have a square yard with a side length
of x + 5. There is a square brick covered
patio in the yard with a side length of x.
What is the area of the uncovered portion
of the yard?

A 2x?+5x+ 25
B. 10x+ 25
C. 2x% + 10x

D x2+ 10x + 25
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What is the appropriate name for the
expression 6x° + 2x2 + 3x?

A. cubic binomial
B. cubic trinomial
C. quadratic binomial

D. quadratic trinomial
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What is the degree of the monomial
3x2y %2

A3
B. 6
C.8

D 11
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